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QUESTION 1

A given PL/I program has a big nesting depth. Which of the following measures will help to reduce the nesting depth in
most cases? 

A. Using SELECT constructs instead of If-THEN-ELSE 

B. Using DO-WHILE as the only loop technique 

C. Avoiding ELSE clauses 

D. Avoiding OTHER clauses 

Correct Answer: A 

 

QUESTION 2

A lead developer reviewing code from one of the programmers found the following code. What should the programmer
be told about BY NAME assignments? 

DCLl STR1, 3FB15 FIXED BIN (15), 3 CH10 CHAR (10), 3 NAME CHAR (25). 3 ADDR CHAR (30), 3 FB31 FIXED BIN
(31); DCL 1 STR2, 3 FB31 FIXED BIN (31), 3 FB31B FIXED BIN (31), 3 NAME CHAR (20), 3 ADDR CHAR (30), 3
CH20 CHAR (20); STR2 = STR1, BY NAME; 

A. There is nothing wrong with using BY NAME assignments in this situation. 

B. They are incorrect and should be replaced by individual assignments. 

C. They can have inadvertent side effects and the code should be analwed. 

D. They do not work in this case and the code should be replaced by individual assignments. 

Correct Answer: C 

 

QUESTION 3

Which of the following may be an advantage of the BEGIN OPTIONS (INLINE) statement? 

A. The program runs faster because all variables declared inside the BEGIN block are already allocated when the block
containing the BEGIN block is entered. 

B. The code runs faster because more variables will be optimized in the BEGIN block. 

C. The program uses less stack storage. 

D. The program uses less heap storage. 

Correct Answer: A 
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QUESTION 4

Given the following declaration, how many variables are initialized to 0? DCL 1 A DIM (10), 

2 B, 

3 C FIXED BIN (31) INIT (4, (*)0), 

3 D FIXED DEC (5,2) NIT ((4)0), 

3 E FIXED DEC (5,2) NIT (4, 0), 

2 F FLOAT NIT (0); 

A. 7 

B. 15 

C. 17 

D. 23 

Correct Answer: B 

 

QUESTION 5

Which software model is LEAST appropriate it requirements keep changing? 

A. Waterfall model 

B. Spiral model (also known as Iterative model) 

C. Rapid Application Development model 

D. Object-oriented model 

Correct Answer: A 
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